Fluss [L/s]
16 14 12 10 8 6 4 2 0 2 4 6 8 10 12 14 16

FVin FN ex
3 8- Vor 3
6 | Fluss [L/s] Munddruck [kPa] ;
2] 2
TLC Ty = [ ] 1 g 1
DA £ Vor : % ! :
0 X 0
[ f' ' : [ :
4 ™ i -15 \ 5-1
FRC ] |
7 2 — =21 r=2
RV ] |
1 -3/ 3
; Volll] Verschiebevolumen [ml] :
é ol Zeit [s)
Soll Ist 0 2 4 [
Vol He co
[L] [%] (%]
6.0110.00 -0.40
4014 00
| +0.30
2.0
+6.00 , - ] _
0.0 \AAAANA 7 |I A £+ Vor
t4.00 ] '
2.0
.00 B +0.10
4.0{% B 0| Lungenfunktionsprifung
N Y I PO und Diffusion Helium
0 20 40 60 80 100 120 140"

t[s]



